Write the letter for the correct answer in the blank at the right of each question.
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1. Considegdhe equation y = x2 + 3x — 4. Determine whether the function has a maximum
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2. What is the equation of the axis of symmetry and the coordinates of the vertex of
y=x2+6x-7?
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3. Find the coordinates of the vertex of the g?%gf‘t' =4 — x?. Identify the vertex as a
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5. One root of the quadratic equation whose related function is HEEE /} ]
graphed lies between which two consecutive integers? ! / \
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6. What is the general equation to the graph shown? Ll L

7. Describe how the graph of the function g(x) = -3x? — 2 is
related to the graph of the function fx) = x2.

7

8. Find the value of ¢ that makes x? — 5x + ¢ a perfect square trinomial.



